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Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of sixty (60) multiple-choice type of questions,

out of which the candidate would be required to answer an

fifty (50) questions. In the event of the candidate attempting
more than fifty questions, the first fifty questions attempted
by the candidate would be evaluated.

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(€73) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(iit) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.
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Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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Time Allowed : 75

Paper I

MAY - 00116/I—D

gyutent I

Minutes]

[Maximum Marks : 100

Note : (1) This Paper contains Sixty (60) multiple choice questions, each question

carrying Two (2) marks.
(2) Attempt any Fifty (50) questions.
GoAT : (1) A1 JEAUGehd |16 (60) Sgee TRA foiel SR Yo TEAen g (2) 9

3T

(2) HUAR TN (50) YT IW T

1. Based on the following statements

which of the conclusion/s given

below will follow/s ?

Statement I :

Statement 1II :

Conclusion 1

Conclusion 2 :

(A) Only 1
(B) Only 2

All the bowlers of
my team are

wicket takers.

Varun is not a
wicket taking

bowler.

:Varun is a spin

bowler.

Varun is not a
bowler of my

team.

(C) Both 1 and 2

(D) Neither 1 nor 2

qdra faumi=ar ER wetad®

HIoEI(d) frewd wed Id| 2

faam I : = 9o ¥d T
forehe =IO eTRA.

faam I : gzvor g fame S
Teers gt

et 1 ;. %0 iRl Mioe oTR.

fremel 2 :  T%U A G e
el

(A) w1
(B) i 2

(C) 19 2 It
(D) 19 2 T=RI A&
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Based on the following statements,

which of the conclusion/s will

follow/s ?

Statement I : All apples are

mangoes.

Statement II : All mangoes are

bananas.

Conclusion 1 : All apples are

bananas.

Conclusion 2 : Some bananas

are mangoes.
(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

If the word FROG is coded as
719168, then what should be the
code for TRIP ?

(A) 21181016
(B) 21191017
(C) 2019917

(D) 2119916

MAY - 00116/I—D

qdta faemarsar snem et

HIvan(q) s wear Jad ?

faa= 1 : 99 9w=c T4 aTeq.

faam™ I : 99 219 Sl eTRd.

fewdl 1 : 99 9wEE Sd eTRd.

freeed 2 ¢ @R Sl TH RA.

(A) & 1

(B) ™ 2

(C) 1 9 2 S=ret

(D) 1 9 2 Srgrel et

Tehl Hiehfde Od S8 FROG 71 I
719168 2141 fAfea, ) <= 9o TRIP

I VT Gehalh w7
(A) 21181016
(B) 21191017
(C) 2019917

(D) 2119916




Which one is the odd-one out from

the following ?
(A) FEG
(B) TSU
(C) NML
(D) RQS

Five players, P, Q, R, S and T are
playing cards on a table facing the
center. P is on the left of Q but not
a neighbour of T. S is on the right
of R and is not a neighbour of Q.
T is on the right of Q. Who is on
the right of S ?

(A) R
(B) P
C) T
D) Q

Which of the alternatives will com-

plete the following letter series ?
EGF, IKJ, ............ , QSR, UWV.
(A) MON

(B) LNM

(C) NPO

(D) MNO

MAY - 00116/I—D
EATeTdeh! ShIOAT THME Saaen ol
AR ?

(A) FEG

(B) TSU

(C) NML

(D) RQS

T4 weele, P, Q, R, S 31l T Wi
STAHIAT I Tlesd 3Med. P 81 Q=
ST SIS[E A 38, W T =1 ISy
TE. S 7 R=AT AT A THAT ST
@ Q= I AR T B QAT Sl
SIS[E SEeT 8. T ST Il SN[
HO AR ?

(A) R

(B) P
(C) T
D) Q

EATeTdeht shI0TdT gaiy foetell &R it
ol ke ?

EGF, IKd, ............ , QSR, UWV.

(A) MON
(B) LNM
(C) NPO
(D) MNO

[P.T.O.



Use the following table to

answer questions 7 to 10 :

Distribution of students at graduate
and post-graduate levels in seven

institutes :

Institute Graduate Post-Graduate

M 17% 8%
N 12% 15%
o 12% 12%
P 13% 13%
Q 18% 14%
R 14% 21%
S 15% 17%
Total
Number of
Students 27,300 24,700

7.

Total number of students studying
at post-graduate level in institutes
N and O is :

(A) 5601
(B) 5944
(C) 6669

(D) 7004

MAY - 00116/I—D
Y9 ok, 7 d 10 HS Qe deeT=ll
ST HATCT :

SIS E S 1 ke o kg e I e R A
foeneata faaom

e RECH T
M 17% 8%
N 12% 15%
0 12% 12%
P 13% 13%
Q 18% 14%
R 14% 21%
S 15% 17%

TRl fommedt
& 217,300 24,700
N 307 O a1 Feume Jeeg< forenet=ht

TR e fhdt o’ ?
(A) 5601
(B) 5944
(C) 6669

(D) 7004




10.

What is the total number of

graduate and post-graduate

students in institute Q ?
(A) 8320
(B) 7916
(C) 9116
(D) 8372

What is the ratio between the
number of students studying at
post-graduate and graduate levels

respectively from institute R ?

(A) 14 :
B) 19 :

C) 17

D) 19 :

19

21

: 21

14

What is the ratio between the
number of students studying at post-
graduate level from institute R and
the number of students studying at

graduate level from institute P ?

(A) 13 : 19
(B) 21 : 13
(C) 13 : 8
(D) 19 : 13

8.

10.

MAY - 00116/I—D
Q I TEWHA UgA! S TR

foeneat=t wwm e fodl oMy ?

(A) 8320
(B) 7916
(C) 9116

(D) 8372

R o1 G¥dia 9eegwr fommefl emfn
e ?

(A) 14 :
(B) 19 :
(C) 17 .

(D) 19 :

19

21

21

14

R o1 Gl ggeg forameft amifor P
a1 Gt aeet fomneff aren we-
A U 1 AT ?

(A) 13 : 19

(B) 21 :

(C) 13 :

D) 19 :

13

8

13

[P.T.O.



11.

Use the following table to

answer questions 11 and 12 :

Distribution of areas under various

food crops.
Food Crop Percentage
of Area
Rice 20%
Wheat 20%
Barley 10%
Jowar 5%
Bajra 5%
Maize 12.5%
Others 27.5%

If the total area under jowar is 1.5
million acres, what is the area under

rice ?

(A) 6 million acres
(B) 7.5 million acres
(C) 9 million acres

(D) 4.5 million acres

11.

MAY - 00116/I—D

g9 . 11 3fUT 12 |WIET Wit

A= SUANT HIMET

ATATTeET ST TETS! et ST

S ICAS

T AT TR
LIEC 20%

T 20%

ElSil 10%

SRI 5%

IS 5%

T 12.5%

TR 27.5%

SRIEed &5 S 15 a8 THL 38
W qGesl Tielial &5 fohcl 8@ ?

(A) 60 & THT
(B) 75 @& THT
(C) 90 & THT

(D) 45 A& THI




12.

13.

If the production of wheat is 6 times
that of barley, what is the ratio
between the yield per acre of wheat

and barley ?

(A) 3 :2
(B) 3:1
C) 12 : 1
D) 2 :3

Which of the following is the
correct chronology of internet based

facilities ?

(A) Google, Hotmail, Facebook,

Whatsapp

(B) Facebook, Google, Hotmail,

Whatsapp

(C) Hotmail, Google, Facebook,

Whatsapp

(D) Hotmail, Facebook, Google,

Whatsapp

12.

13.

MAY - 00116/I—D

‘IOGI‘;{ SCHIQH ®I|('I'T‘°¢II SCHIQI=Hl Helbe

3T, T TG ST St Ar= Tfd Thd
IARAMHA T[ORR ®E ™a ?

(A) 3 :2
B) 3:1
C) 12 : 1
D) 2:3

IS SAURG ETeltad dar=r ag

HTATISRH hIvIT ?

(A) TS, BleHA, ®hEeeh, Rlegeiq

(B) ®4gH, T, BICHd, RIegeTT

(C) Tehd, e, hyseh, wIegsfd

(D) Tehid, HEeeh, TTd, RecqsTa

[P.T.O.



14. Identify the odd element from the

15.

16.

following on the basis of its basic

function :

Windows, Android, MS-Office, Linux,
Unix

(A) MS-Office

(B) Windows

(C) Linux

(D) Unix

What is the full form of PDF in the

context of computer file system ?
(A) Personalised Data Format
(B) Pixel Digital File

(C) Pictured Data Format

(D) Portable Document File

Which of the following is a ‘cloud
computing’ based data storage

facility ?

(A) Play store

(B) G-mail storage
(C) Drop box

(D) Cloud stick

MAY - 00116/I—D

14. ‘g&m s’ @1 o= e @

15.

16.

T 7 U T AleEl

Windows, Android, MS-Office, Linux,

Unix

(A) THTE AR
(B) fo=ry

(C) Torera

(D) I

GRS BRdi=a] dewid PDF =1

el foed s ?
(A) THAAESE S WiHe

(B) fusda fef

(C) foeFare 2o wiFe

A HIEd

(D) Uead SIRA= WEd

LN WY ~ a ¢ . Ny
WlAlctben] enlUldl HAl  qllsns o=l
TAJAER STER S WG 9l
A ?

(A) = VISR
(B) Si-Aa VRS
(C) gfu dfe™

(D) FASHS ik

10



17.

18.

Which of the following is the correct
statements in the context of web 2.0

facilities ?

(A) Communication on these facili-

ties is mostly one-way

(B) Content on these facilities is

generated mostly by users

(C) These facilities are much more

cheaper to establish

(D) These facilities use more ad-

vanced distribution technologies

Identify the correct pair from the

following :
(A) Ubantu — Operating System

(B) Excel — Word Processing Soft-

ware
(C) AVI — File Transfer Protocol

(D) HDD — Cloud Storage Facility

17.

18.

MAY - 00116/I—D

‘I 2.0" gfagren Heuld welierde]

g fauE @t e ?

(A) =1 gfagmeia Fd e Thahi

19

(B) =1 gfaenata v quawd

(e} LN N
Al cdiAle d4qiX encdcdl ANl

(C) = Gfaen IYRW § ®R HHl T
A

(D) = gfaen At WA foawo T
1L

Tefeush! I el efesan .

(A) 392 (Ubantu) — 3Arqfen faedm

(B) TR (Excel) — a€ Wafdm
ESIRECEY

(C) THISE (AVI) — ®EA ITHH
PICICIrS]

(D) THEIET (HDD) — IS¢ HieauF

gfaen

11
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19.

20.

21.

A part of the large quantity of fly
ash produced in a thermal power
plant is used for :

(A) Soil conditioner

(B) Making bricks

(C) Road making

(D) Burning

is

World Environment Day

celebrated every year on ............... .
(A) 5th July

(B) 5th June

(C) 25th January

(D) 5th December

Which of the following Acts gives
rights to citizens to file cases against

violation of environmental norms ?
(A) Environment (Protection) Act
(B) Air Pollution Act

(C) Water Pollution Act

(D) Forest Act

19.

20.

21.

MAY - 00116/I—D

ifSurer Yehedrd qO STl ShleseIT=il

TR ST JHIUITE ShIvTeT SHLOMHTS! STaie]
SR

(A) TR

(B) foe TR =HvaEs

(C) T fofor HoamamE!

(D) 3&F =

SATfaeh gateRy o9 hiven arRed
g IS GSR hell Sl ?

(A) 5 S

B) 5 Sd

(C) 25 STHaRt

(D) 5 fedsR

EATeTUeh! ShIUC] ShHTIETEE ARTERT]

TS0 YHIUR AT SecToTaRl Tl

TRe R0 AR TR 3T ?

(A) THEROT TI&TU HIES]
(B) T USHU I
(C) ST JgHU hiIal

(D) 99 HaH HEe

12



22.

23.

Which of the following gases
is largely responsible for global

warming ?

(A) Sulphur dioxide
(B) Carbon dioxide
(C) Chlorine

(D) Ammonia

Which one of the following in not

non-conventional energy source ?

22.

23.

MAY - 00116/I—D

TeTeTueh! SIUd A SRTqeh  ATaHm

I SRAhET HRUTYd Ted 7

(A) GeRl SRS
(B) heH STHSTES
(C) TR

(D) ST

EATeTUehT IOl 3T-JRUTeh SHsli—&id
qEr ?

(A) Solar (A) ¥R
(B) Tidal (B) Xc-3TRreT
(C) Geothermal (C) y3iifeurn
(D) Coal (D) hicsHl
24. Which of the following is the top | 24. ICileidshl UM oM Soo HEHEH
carnivorous animal ? e ?
(A) Bird (A) Teft
(B) Snake (B) 49
(C) Buffalo (C) *=H
(D) Tiger (D) ==
13 [P.T.O.



25.

26.

27.

Which one of the following e-reposi-
tory is for doctoral research of

Indian Universities ?
(A) Dnyanganga

(B) Shodhaganga
(C) Bookganga

(D) INFLIBNET

Which one of the following agency
is to formulate policies of higher

education ?
(A) UGC

(B) MHRD
(C) NCERT
(D) NAAC

Which one of the following is
responsible for assessment and
accreditation of higher education

institutions in India ?
(A) UGC

(B) NAAC

(C) NCTE

(D) AICTE

25.

26.

27.

MAY - 00116/I—D

gRag  fourdiesrda faamearsegd
TINGATES WATAdeh! hITd 3-9er
AR ?

(A) JT

(B) SR

(C) &M

(D) sl

WTeATcTueh] ShIU GET SeaTeToe
g Hfy=dt s ?

(A) FSir

(B) THUHSIRE!

(C) TAHEeTRE

(D) -

TRATHA  STATUT=T Jeaiehrdl d

sfufeaedi=t JemEed wrdarads
FHIUT 3R ?

(A) FSt
(B) ¥

(C) TEfesE
(D) T

14
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28. As per UGC 10-point grading | og Fre= gE-fag ot o5 .
system for CBCS, the letter grade ST SO <A+ S .
“A™ means :
(A) 3hee
(A) Outstanding
(B) Very Good (B)
(C) Excellent (C) 3w
(D) Good (D) =et
29. A unit by which the course work is | 29. T&ke @I S TIUHHATE T Hd
measured : q
(A) Credit (A) ST
(B) Grade (B) &roft
(C) Grade Point (C) =it g
(D) Credit Point (D) == fog
30. Which was the first open university 30, wRAEE TR T N
in India ?
(A) Dr. B.R. Ambedkar Open Uni- (A) el SL3R. 3feEH Hd ferermdia
versity .
(B) ARG =ASEIUT HEITS  HeFd
(B) Yashwantrao Chavan
Maharashtra Open University ERLLIE
(C) Indira Gandhi National Open (C) sfe Tt T TR s
University
(D) Netaji Subhash Open University D) o g
15 [P.T.O.



31. Application of course-content in

32.

day-to-day life is mainly achieved

through :

(A) Demonstration method

(B) Project method

(C) Field visit

(D) Inquiry method

In order to monitor students’
progress and to modify teaching
accordingly, the best method of

evaluation is :

(A) formative evaluation

(B) summative evaluation

(C) qualitative evaluation

(D) objective-based evaluation

31.

32.

MAY - 00116/I—D

-~

Usi=4l AT I

qTgAShATI ST

IUAISH AEvTHIS STfereh U

(A) e usd
(B) Yehed Ugd
(C) & 9T Ugd

(D) F=1 9sd

foameat=n Y=l S'RE e Al

SMYR STATIATT o€l hIvIHS|

& Helcpte Tgd 3.

(A) 3R HeIHTIA

(B) WRINh HeIHTHA

(C) TUMcH HeIHTIA

(D) SfE=THid G

16



33.

34.

35.

The question, “How would you
prove that the earth is round or

not round ?” is based on the

...........

objective.

(A) Comprehension
(B) Evaluation
(C) Application
(D) Synthesis

Which of the following is not essen-

tial for good teaching ?

(A) Human-relations skills
(B) Communication skills
(C) Attractive personality

(D) Knowledge of appropriate
teaching methods

The most important purpose of

‘guidance’ of students is to :

(A) help them to understand their

own shortcomings

(B) help them to change their

faulty behaviour

(C) make them capable of helping

themselves

(D) direct them about the right

path

33.

34.

35.

MAY - 00116/I—D

“geat e e feRa RT ® TR A oS
A ?" g-l- B
SR i o,

(A) 3Theid

(B) HeIHTaH
(C) 3uFeH

(D) FTATI

BITATATHRT HIOE M FATTHT
AYAEE! ATEYIh AT 2

(A) At Teay-fasaes wRted
(B) €YY A

(C) 3Tehtieh TR
(D) IATT FALAYT Tgdid AqM
Toreneatn Ay hLvam=n Taid Hexarl

(A) =1 HHRA TS HUAH A
A Tl

(B) T Fhi oA SAAvATd T Had

HLO]

(C) I Tl Hed w0 TeH

S0
(D) A A TS SYE Yo

17

[P.T.O.



36.

37.

38.

The best method of increasing the

motivation to learn is :

(A) punishing inattention during

learning

(B)

asking difficult questions while

teaching

(C) explaining, in the beginning,

the purpose of teaching a unit

(D)

using a variety of audio-visual

aids

A research problem is primarily

chosen depending upon :

(A) its relevance

(B) available funds

(C) interest of the researcher
(D) availability of literature

Which of the following is a primary

source of information ?
(A) A research review
(B) A recently written text-book

(C) A research article published in

a standard journal

(D) A multi-author treatise pub-
lished in the year 2015

37.

38.

MAY - 00116/I—D

(A) FAFIARTINE & A feeaeed
Torem &0

(B) AR a9e T4 fa=mo

(C) =2 RIRfavammiiel 3891 geardien
e HI0|

(D) fafayr gH-gmea AEATAT AT
HL

e fommmt fee & urgem
eI 3.

(A) = TR

(B) 3uetsy fAefier

(C) HINYhT= SATESa
(D) TUHI= ST
AN P
TTeTedeh! 3 Hifed=l He Hid
AR ?

(A) GINEATET THCES  3TgaTd

o~

(B) qeha= fat

el U3 - ik

(C) gHUYa Fradertfachd afes Seren
EIEEGC]

(D) 3T @Rl fafgeien 9 2015 Gl

Jag e U

18



39.

40.

41.

A research report showed that the
population of a country increased
from 20 million in 1941 A.D. to 60
million in 2000 A.D. The study can
best be described as .................... .

(A) Factorial

(B) Social

(C) Longitudinal
(D) Cross-sectional

A hypothesis is not always necessary

...........................

normative

correlational
experimental
(D)

historical

Which of the following sampling
methods is based on probability ?

(A) Judgement sampling
(B) Stratified sampling
(C) Quota sampling

(D) Convenience sampling

39.

40.

41.

MAY - 00116/I—D

T HENEE STRATIER, Tehl QI
TARGEAT 1941 AT S1F hiSl =i, o
2000 Wit W1 ISl Zdehl TGl AT

I FAH 90

3 T

(A) HTHE
(B) 9HISeh
(C) dreiepred
(D) =R-@isd

EAYIH AT ™ ATE.
(A) gHOfTd

(B) WEHSHHS

(C) warmiuftad

(D) Uferarteres

Tt AT fee Tgdiuehl ShIvl g
“Hyrerd e smeRa SR ?

(A) THeroenid T fere

(B) W@ 91 fae

(C) oo FHAT Tere

(D) g T e

19

[P.T.O.
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42. Field study is concerned with : 42. T STl Befieryeh! v TS

(A)

real life situations

(B) doing laboratory studies in the

outdoors

©)

experimental approach
(D) collecting selective data

Answer question Nos. 43 to 48
based on either the English

passage or the Marathi passage :

When a person claims to be non-
violent, he is expected not to be
angry with one who has injured him.
He will not wish him harm; he will
wish him well; he will not swear at
him; he will not cause him any
physical hurt. He will put up with
all the injury to which he is sub-
jected by the wrong-doer. Thus non-
violence is complete innocence.
Complete non-violence is complete
absence of ill-will against all that

lives. It therefore embraces even sub-

ffea eme ?

(A) Jag aEgieerdt

(B) WAl WG aTeX  ehotall
A

(C) Yrfireh gftesh

(D) faes wfed! HwEm

U9 . 43 | 48 ¥ Y faeiean saramer
et gd. guSitarear fear
TSt SarareRiel gyl 3wt
our o

RS SHgeumeia $H9l ST .
o 3T\ fage =@, wg &
S S YA CEREE .
et 1 Mt T | s | A £ )
e A T S e WS
AR S Ifd T WS ST,
O A JEE & i o, qard
frgror enfor e § Sfid wewere wE
ahe T : TSI Fleld * TER
g AAHE gEeeA sk e
SR e fGHard. Jo1 ¥ Shdes
TS YRIHED. S § IReds Tl
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human life, not excluding noxious
insects or beasts. They have not been
created to feed our destructive pro-
pensities. If we only knew the mind
of the Creator, we should find their
proper place in His creation. Non-
violence is therefore in its active form
goodwill towards all life. It is pure

Love.

Non-violence is a perfect state. It is
a goal towards which all mankind
moves naturally though uncon-
sciously. Man does not become
divine when he personifies inno-
cence in himself. Only then does he
become truly man. In our present
state, we are partly men and partly
beasts and in our ignorance and
even arrogance say that we truly
fulfil the purpose of our species,
when we deliver blow for blow and
develop the measure of anger

required for the purpose.

MAY - 00116/I—D

A HI, M Uk hcddeh FI8l
foreman FEa. s Seniie U e
M ® TEol 9d, 319 fsRs shrear
ITIEREN 3T, AR g gl
TARIMEA T FEeIREA e
AARIIY TS AT SOE o oAl
SHSUY AT = AMfcheh | TG M
9 &EA fodll 9 el
U FEERAIIA S TSIV AIST
yifsea MefSi Sr@faet Bid. Tmeftst
@W@ HHEA (equality) 3Tt
3N AT &R 3T, T o SHgEs
THURE (identical) A TEIA. U
= i SR feo wE s
‘T’ sEe wifes. e witeme
TRl SRl HE 8. T TSI
EuFREd 8 Hoall foan giar. feam
feen S fiaome §6 AR
fR1eromE qreRal A wel. ST e

ERIRIECITY

sfor = A UTHIUT AT
e el R AT WO wiiarget
GRS
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43.

44.

45.

A truly non-violent person would

not even :

(A) take revenge upon his enemy
(B) have ill will for his enemy
(C) cause his enemy some injury
(D) destroy his enemy

The idea of non-violence concerns :
(A) progressive societies

(B) insects and animals

(C) God

(D) all forms of life

Which of the following statements

is true ?

(A) Complete non-violence is the

absence of will power

(B) Non-violence is pure love for all

whom we know

(C) All living beings have their

proper place in the universe

(D) A non-violent person is always

passive

43.

44.

45.

MAY - 00116/I—D
el SgesmeEia THEl ST Haw,

ALY
A) Togr=n fewmit 3@ T9a
(B) favm i

(C) o sam foerom=l sTesaehdn
3R

(D) QEu Afeh RN RS T
et fereror snftr Wi § o1 W

(A) fden A= STEwhRdl 8]
(B) fa= gamer sifasw 99 o&d
(C) faen faoma e ewd
(D) = ¥ fo wEas a1

ST ST FTACSA THYE

AT 9 T 0T RIS
(A) TEIST=T STafaerrd
(B) St aRedeine fien

(C) efsi=n =i e

(D) ST Tedd forme Hgw™
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46.

47.

48.

At present, man is partly

..................

in his behaviour and attitude.
(A) beastly

(B) divine

(C) cowardly

(D) ignorant

Non-violence is pure :

(A) Perfection

(B) Love

(C) Generosity

(D) Consciousness

The most appropriate title for the

passage is :

(A) The advantages of non-violence

(B) It is really possible to be non-
violent

(C) Non-violence as a political
ideology

(D) The spirit of non-violence

46.

47.

48.

MAY - 00116/I—D
TS FAEERGl W Ret 7 ®R
Trafae.
(A) qatd =@, Id SR

(B) qatd ¥R, 3" I%

(C) wyvi fau™ <=
(D) HUi faem s’

T S aREcTE! TR 31, W

TS Y= HEha IR el qeuaTe]

HETIR SR,

(A) ¥l fau™ I

(B) WUl faum s

(C) gaid aleR, STY I
(D) qatd =@, Id SR

1 IAIATETS! STfereh THUS  ISiah
HIOG ?

(A) T¥ETE HEhdl

(B) foam g

(C) Sigey HHM

(D) Siges fasea
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49. In the context of face to face

50.

interpersonal communication which
of the following is an incorrect

statement ?

(A) Verbal signs or signals are
more in terms of quantum and

variety

(B) Non-verbal signs or signals are

difficult to control

(C) In case of confusion over

meaning, verbal signs are

trusted less

(D) Non-verbal signs or signals are

mostly involuntary

In which of the following types of
communication the potential for
getting quick, significant and

reliable feedback is maximum ?
(A) Mass Communication

(B) Group Communication

(C) Interpersonal Communication

(D) Inter-group Communication

MAY - 00116/I—D

49, T SHKHEA GHREHA Haer=a

50.

Teuld Ereficiet ®iv faue ge
qR ?

(A) v®y fa= a1 goumre gH |
Sfger S e

(B) T3 fo=g a1 Qomer = 3am
S I

(C) SHan Aiforaat Tiges faToT Seamd

Ylecey Tager &l favarg 3aan
Sl

(D) i fa a1 gon g wrRieRd

SAHATd

TTeATeTdeh! IOl TR FehRId aTTaH,
Aoy i favamae gfadme/genwo
THesvar=t emvar Haifaes s/d ?

(A) S FIH
(B) e H9H
(C) TF e\ Ima (Fd)

(D) SF M HmaT
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51.

52.

53.

Identify the incorrect pair of media
and its performance indicator from

the following :

(A) Newspapers — Circulation
(B) Cinema — Box Office

(C) Television — TVT

(D) Radio — ROD

In the context of FM Radio the
abbreviation FM stands for :
(A) Frequency Manipulation
(B) Frequency Modulation

(C) Fidelity Modifier

(D) Fidelity Modulation

The sitting arrangement in a
typical classroom in which students
face the teacher, encourages a

communication which :

(A)

facilitates easy interaction

among students

(B)

give more communicative power

to teacher for control

(C)

give equal communicative

power to teacher and students

(D) facilitates a multidirectional

conversation

51.

52.

53.

MAY - 00116/I—D

TERHIETH F SSTRUSA T M= ShiA A
eeTeR A= WTelTeriehl v Sie! H6h
A ?

(A) g9 — Toamu (FReRH)

(B) Todue — sfeg e

Zigie]

(D) 3l — IWTET

Trey feshi=n geula ‘wwua’ =
agETEl fawR & ?

(A) TRt AR
(B) firaa=it Ateger™
(C) wrEEferel AfewhET
(D) wEEfaR! Aieger™
T HAATER e got feehine

e FHEA THAAT STHATT. 3T YR

(C) fasremoft —

S TS RV FhReAT HATIAT]

Tremed fhesd 2

(A) forneais ThHSBTHE GO e
g |9 2Ad

(B) forerammn gamaa ufsraear s

AT ST ATYRR THesdl

(C) Trerer o fommeatan Saroreed THH
AfyR THesard

(D) gl Fomsomen =T fHesd
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54.

55.

For a teacher what is the easiest
and quickest location of getting the
students’ feedback in a classroom

situation ?
(A) Body language of students
(B) Questions asked by students

(C) The quality of class notes taken
by them

(D) Assignment submitted by them

on the topic

......

For the sequence, 1/2, 2/3, 3/4,
which of the following

is not true ?
(A) The sequence is strictly increa-
sing

(B) The sequence is bounded above

by 0.99

(C) The sequence is bounded below

and bounded above

(D) The sequence contains no

number between 3/4 and 4/5

54.

55.
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TERAl frawr=ar g e anidia

o o

fTenfavarea Hevld gfade a1 e

B Haid 4 9 S 78 Eid

A ?
(A) Taemeai=t <gairat

(B) fommeatt femmaa w9

(C) fammeafdi Sqeiean Aic=n =i

(D) fo=neaff Ty S @

1/2, 2/3, 3/4,
HEAHAHS! EeTeieh! shivld faem @t
e ?

(A) B TEAMI HHI: ded SO
TR

(B) I HEAMIAA Yedsh & 0.99

e WISt ARl

(C) I HEIMAdId Yo qeduen
AR STHUR Teh T 318 9 I
Tdeh GEIUel HIdl STHU Teh
TEAT 3T

(D) o1 HEATHTATA hIvTdIg]
3/4 9 4/5 T AR

n/n + 1,

............

peEG|
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56. Which of the following is not a

57.

linguistic skill ?
(A) Speaking
(B) Reading
(C) Thinking
(D) Writing

Suppose that X is a set of some
real numbers. From which of the
following statements does not

deduce the other statements ?

(A) Between any two numbers in
X, there is at least one number

in X.

(B) Between any two numbers in X,

there are at least two numbers

in X.

(C) Between any two numbers in
X, there are infinitely many

numbers in X.

(D) If X contains at least two num-
bers then X contains infinitely

many numbers.

56.

57.
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EITEATeTdeh] IV TS e
T 2

(A) T

(B) @re sl

(C) fo=m =

(D) e I

TS X 81 el odd T §9 3R,
TTetedsh! HIoear fagmaass gax
fagmrt fagar a1 ¥a e ?

(A) X I gATdrAd K1Vl €19

TEAWE, Tohall & X A& 3R,

(B) X T FATATA HIVICHATEl <19
TEAWE, X At wHGRH SH

&I HAN.

(C) X IT FATdrA HIVIHTRT €19
FEAHEd, X Heid 3Fd &l

SINNIGH

D) X I HI[d FHHGRH TH &

AT, X HEd 27d T ST,
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58.

59.

60.

There are 7 persons in a party. The
number of hands shaken all together
in the party counted with multipli-

city, cannot be :
A) 5
(B) 6
(C) 10
(D) 2

If two distinct circles in a plane are
intersecting each other, then they

intersect in :

(A) exactly one point

(B) infinitely many points
(C) at the most two points
(D) exactly two points

If the word PRINCE is coded as
151781324 in a code language, then
what should be the code for the word
KING in the same language ?

(A) 108136
(B) 119135
(C) 109145

(D) 118146

58.

59.

60.
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Tk UIEid 7 oAl STRd. A1 UIeiHed
TR TEUT FTeledl graie]
N .~ ~ AN A
A (ARARATER HISed) Weiterish]

IO 3T R AR ?
(A) 5

(B) 6
(C) 10

D) 2

JadATdrd I dqe THABTA Bad

SAESIS2] C3 I

(A) THd =5 foag o)

(B) 3Tq v fog oT&am
(C) SI&iid S g oe foig 3t&dm
(D) SF o7 = B9 fog ST

THT Fimfas «9rsid PRINCE a1
TeRTA Hehd 151781324 3TH1 3R,
g 9 KING a1 Iiegren Hehdieh
w1 3 ?

(A) 108136
(B) 119135
(C) 109145

(D) 118146
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